
 

fzpjk; 1 juk; - 10 (II) 
 

 

khfhzf; fy;tpj; jpizf;fsk ; 
tlf;F khfhzk; 

 

,uz;lhk; jtizg; guPl;ir − 𝟐𝟎𝟐𝟐 

 juk; −  𝟏𝟎                                      fzpjk; − 𝐈𝐈     

 
 
 
 
 
 
 
 
 

gFjp 𝑨 

5 tpdhf;fSf;F khj;jpuk; tpil jUf. 

1) a) xUtUila tUkhdj;jpd; Kjy; &. 100>000 ,w;F tup tpyf;fspf;fg;gLtNjhL vQ;Rk; 

njhifapd; Kjy; & 100>000 ,w;F 10% tUkhd tupAk; kPjpj; njhiff;F 15% tUkhd 

tupAkhf tup mwtplg;gLfpd;wJ. mtUila tUkhdk; & 240>000 MFk;. 

i.    tup nrYj;Jtjw;fhf vQ;Rk; njhif vt;tsT? 

ii.  10% tUkhd tupahf nrYj;Jk; njhifiaf; fhz;f? 

iii.  15% tUkhd tupg;gzk; vt;tsT? 

iv.  ,tu; jdJ tUkhdj;jpd; vt;tsT gzj;ij tupahfr; nrYj;Jfpd;whu;? 

b)    &. 200 000 I 8% vspa tl;bf;F itg;gpypLk; xUtu; 3 tUlj;jpd; gpd; nkhj;jkhf 
vt;tsT gzj;ijg; ngWthu;? 

2) rhh;G 𝑦 = 𝑥2 − 2 ,d; tiuig tiutjw;Fj; jahupf;fg;gl;l xU G+uzkw;w ml;ltiz 
fPNo fhzg;gLfpd;wJ. 

x -3 -2 -1 0 1 2 3 

y 7 2  -2 -1 2 7 

i. 𝑥 =  −1 Mf ,Uf;Fk; NghJ 𝑦 ,d; ngWkhdj;ijf;fhz;f. 

ii. 𝑥 – topNaAk; 𝑦 – topNaAk; 10 rpwpa rJuq;fspdhy; Xh; myF tPjk; 
tifFwpf;fg;gLkhW cs;s mstpiliag; gad;gLj;jp Nkw;Fwpj;j rhh;gpd; tiuig 
tiuGj;jhspy; tiuf. 

iii. tiugpd; rkr;rPur;rpd; rkd;ghL ahJ? 

iv. rhh;G cah;thdjh? ,opthdjh? 

v. jpUk;gy; Gs;spapd; Ms;$W ahJ? 

vi. tiuig 𝑦 = 2 vd;w NfhL ,ilntl;Lk; Gs;spfis tiugpy; Fwpf;f. 
 

Neuk; - %d;W kzpj;jpahyak;            Nkyjpf thrpg;G Neuk; − 𝟏𝟎 epkplq;fs; 

Kf;fpak;:  

❖ gFjp 𝑨 ,ypUe;J Ie;J tpdhf;fisAk; gFjp 𝑩 ,ypUe;J Ie;J tpdhf;fisAk; 

njupe;njLj;J nkhj;jk; 𝟏𝟎 tpdhf;fSf;F tpil vOJf. 

❖ tpdhf;fSf;F tpil vOJk;NghJ cupa gbKiwfisAk; myFfisAk; vOJf. 

❖ xt;nthU tpdhtpdJk; rupahd tpilf;F 𝟏𝟎 Gs;spfs; toq;fg;gLk;. 



 

fzpjk; 2 juk; - 10 (II) 
 

 

3) a) rpWtd; xUtdJ cz;baypy; 5 &gh> 2 &gh ehzaf;Fw;wpfs; khj;jpuNk ,Ue;jd. 
mtw;wpd; nkhj;j vz;zpf;if 46 MFk;. mtw;wpd; nkhj;jg; ngWkjp &gh 158 MFk;. 5 
Ugh ehzaf;Fw;wpfspd; vz;zpf;ifia 𝑥 vdTk;> 2 &gh ehzaf;Fw;wpfspd; 
vz;zpf;ifia 𝑦 vdTk; nfhz;L xUq;fik rkd;ghLfis mikj;J mtw;iwj; jPu;g;gjd; 
%yk; 5 &gh ehzaf;Fw;wpfspd; vz;zpf;ifiaAk; 2 &gh ehzaf;Fw;wpfspd; 
vz;zpf;ifiaAk; jdpj;jdpNa fhz;f. 
b) 𝑎 + 𝑏 = 7, 𝑎𝑏 = 3 vdpd;> 𝑎2 + 𝑏2 ,d; ngWkhdq; fhz;f. 

4) a) nrt;tf tbtf; fhzp xd;wpd; ePsk; mjd; mfyj;jpYk; 6 m mjpfkhFk;. fhzpapd; 

gug;gsT 720 m2 MFk;. mjd; mfyj;ij 𝑥 vdf;nfhz;L ,Ugbr;rkd;ghl;il 
mikj;Jj; jPu;g;gjd; %yk; fhzpapd; ePsj;ijf; fhz;f. 

b) jPu;f;f. 
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5)       i.  fhuzpg;gLj;Jf. aa 82 3 −  

ii.  1,2 ++ xxx  vd;gtw;wpd; ngh.k.rp If; fhz;f. 

iii. 
1

12
2 +

−
+ xxx

 Ir; RUf;Ff. 

6) efuk; A ,ypUe;J efuk; B ,w;F Nkhl;lhu; irf;fps; xd;W nrd;W kPz;Lk;  efuk ; A 
,id mile;j tpjk; J}u Neu tiugpy; fhl;lg;gl;Ls;sJ. 

 i)  Nkhl;lhu; irf;fpspd; ruhrupf; fjp  

    ahJ? 

Nkhl;lhu; irf;fps; Gwg;gLk; mNj Neuj;jpy; 

efuk; A ,ypUe;J efuk; B I Nehf;fpg;  

Gwg;gLk; Ng&e;J xd;W 3 kzpj;jpahyq;f 

spy; efuk; B I mile;J mq;F 2 kzpj;jp 

ahyq;fs; jq;fp epw;fpd;wJ. 

 ii)  Ng&e;jpd; ,af;fj;Jf;fhd tiuigAk; NkNy cs;s tiugpy; tiuf. 

 iii)  Ng&e;J efuk; A ,ypUe;J efuk; B ,w;F nrd;W tu vLj;j nkhj;j Neuk;     

7 kzpj;jpahyq;fs; MFk;. vdpd; Ng&e;jpd; efuk; B ,ypUe;J efuk; A ,w;fhd 
gazj;ijAk; tiugpy; Nru;f;f.  

  iv) Ng&e;J efuk; B ,ypUe;J efuk; A ,w;F nrd;w fjp efuk; A ,ypUe;J efuk; B 
,w;F nrd;w fjpapd; vj;jid klq;fhFk;? 

 

 

 

 

 

 

J}uk; (km) 

  180 

  150  

  120 

    90 

    60 

    30 

 1   2   3    4   5   6   7  Neuk;(h) 



 

fzpjk; 3 juk; - 10 (II) 
 

 

gFjp 𝑩 

5 tpdhf;fSf;F khj;jpuk; tpil jUf. 

7) khztndhUtd; jPf;Fr;rpfisf; nfhz;L nra;j Mf;fnkhd;W cUtpy; 
fhl;lg;gl;Ls;sJ.  

 

i. ,f;Nfhyj;jpy; Kjy; 3 cUf;fisAk; mikf;fg; gad;gLj;jpa jPf;Fr;rpfspd; 
vz;zpf;ifia KiwNa vOJf. 

i. gj;jhtJ cUtpid mikf;fj; Njitahd jPf;Fr;rpfs; vj;jid? 

i. ,f;Nfhyj;jpd; vj;jidahtJ cUit mikf;f 37 jPf;Fr;rpfs; Njit? 

ii. 50 jPf;Fr;rpfisf; nfhz;l 2 jPg;ngl;bfisf; nfhz;L Kjy; 10 cUf;fisAk; 
jahupf;f KbAnkd kA+ud; $Wfpd;whd;. ,f;$w;W rupahdjh? fhuze; jUf.  

 

8) i)  7 cm ePskhd Neu;Nfhl;Lj;Jz;lk; 𝐴𝐵 ia tiuf. 

ii) 𝐴𝐵 xU GakhFkhW 𝐴 apy; 600 I mikf;Ff.  

iii) 𝐵𝐴 xU GakhFkhW 𝐵 apy; 450 I mikf;Ff. 

iv) mtw;iw cfe;jthW ,izg;gjd; %yk; ∆𝐴𝐵𝐶 Ig; G+uzg;gLj;Jf. 

v) Gs;spfs; 𝐴, 𝐵 ,ypUe;J rk J}uj;jpy; mirAk; Gs;spapd; xOf;if tiuf. 

vi) gf;fk; 𝐴𝐶 ,d; nrq;Fj;J ,Urk$whf;fpia tiuf. 

vii) mt;tpU xOf;FfSk; re;jpf;Fk; Gs;spia 𝑂 vdg; ngaupLf. 

viii) 𝑂 I ikakhfTk; 𝑂𝐴 I MiuahfTk; nfhz;l tl;lj;ij tiuf. 

 

 

9) a. ,izfuj;jpd; ,U gz;Gfisf; Fwpg;gpLf. 

  b. jug;gl;l cUtpy; ABC xU Kf;Nfhzp T vd;gJ  

BC ,d; eLg;Gs;sp AT=TD MFkhW AT MdJ  

D tiu ePl;lg;gl;Ls;sJ. 

 i. ehw;gf;fy; ABCD ,d; rpwg;Gg; ngau; ahJ?  

 ii. ∆𝐴𝐵𝑇 Ak; ∆𝐷𝐶𝑇 Ak; xUq;fpirAk; vdf; fhl;Lf. 

 iii. 𝐴𝐵̂𝐶 ,w;Fr; rkkhd Nfhzk; ahJ? 

 

 

 

 

 

D 

A 

B 
T 

C 



 

fzpjk; 4 juk; - 10 (II) 
 

 

10) cUtpy; 𝐴𝐵//𝑅𝑆> 𝐴𝐶//𝑃𝑄 ck; 𝐵𝑄 = 𝐶𝑅 ck; MFk;. 

i) jug;gl;l juTfis cUtpy; Fwpf;Ff. 

ii) Kf;Nfhzp 𝐵𝑃𝑄> Kf;Nfhzp 𝐶𝑅𝑆 vd;gd   
xUq;fpirAk; vdf; fhl;Lf. 

iii) ehw;gf;fy; 𝐵𝑅𝑆𝑃 Xu; ,izfuk; vdf; fhl;Lf. 

 

 

11) juk; 10 Ir;; Nru;e;j 60 khztu;fs; ghlrhiy tpisahl;Lg;Nghl;bapy; clw;gapw;rp 
epfo;T kw;Wk; mzpeil epfo;tpy; gq;Fgw;wpa Kiw fPNo jug;gl;Ls;sJ. clw;gapw;rp 
epfo;tpy; fye;J nfhz;l khztu;fs; 40 Ngu; Mtu;. Mzpeil epfo;tpy; fye;J nfhz;l 
khztu;fs; 35 Ngu; Mtu;. clw;gapw;rp epfo;tpy; khj;jpuk; fye;J nfhz;l khztu;fspd; 
vz;zpf;if 22 MFk;. 

   𝜖 = { juk; 11 khztu;fs;} 

     𝑀 = { mzpeil epfo;tpy; fye;Jnfhz;l khztu;fs;} 

     𝑃 =  {  clw;gapw;rp epfo;tpy; fye;Jnfhz;l khztu;fs;} 

i. 𝑛(𝜖) , 𝑛(𝑀), 𝑛(𝑃), 𝑛(𝑃 ∩ 𝑀) vd;gtw;wpd; ngWkhdq;fis vOJf. 

ii. cupa jfty;fis ntd;tupg;glj;jpy; Fwpj;Jf; fhl;Lf. 

iii. 𝑛(𝑀 ∪ 𝑃)  ,d; ngWkhdj;ijf; fhz;f. 
 

12) i) ngWkjp fhz;f. log464 + log525 − 2 

ii) jPu;f;f. lg𝑥 − lg24 = lg16 − lg12 

iii) klf;if tha;ghLfisg; gad;gLj;jpr; RUf;Ff. 

74.36 × 9.37

48.94
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𝑃 𝑆 


